20 5 12

* Ruby

Ruby

i Ruby

= Ruby
N :
= 03
= 2*3%4
= X=5%*6
. ruby.exe
= irb
N
-
. print  puts

print puts

i Ruby

H:¥ruby¥sample4l.rb

x = 0.1

n=1y =0.3

z = if n==1 then x+y else x*y end
print( "x= ",x,", y= ",y,", z=

"z,

yn

)

irb Ruby




:002:0> n

\003:0>| z

2+3 5

Xy (x 5y 2 3

x=4 4

x==3 X 3 true
print(x) nil

irb(main):003:0> x==
=>|true |

irb(main):004:0> x=4

irb(main):006:0>| x=3;y=4
=>

irb(main):007:0> x=3;print(x)

H:¥ruby>ruby sample4l.rb
x= 0.1, y= 0.3, z= 0.4

‘ print

Ruby
> ruby

10

i Ruby

. sample4l.rb

H:¥ruby¥sample4l.rb

X
n

0.1
1; y = 0.3

z = if n==1 then x+y else x*y end
print( "x= ",x,", y= ",y,",

z=

"z,

v

D)
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RUby il BB By By
= ruby

.rb

[ txt

26

sample4l.rb

28

H:¥>ruby sample4l.rb
ruby: No such file or directory -- sample41.rb (LoadError)

ruby sample4l.rb

sample41.rb H:¥Ruby

Ruby

ruby Ruby

30




4 invalid char

C:¥ruby>ruby sample41.rb
sample41.rb:4: Invalid char “¥201' in expression
sample41.rb:4: syntax error, unexpected $undefined,

"y, z="z,"¥n")
sample41.rb:4: syntax error, unexpected ',
print( "k="x,", y="y,", z= ",z,"¥n" )

, expecting $end

2 invalid char

H:¥ruby>ruby sample41.rb
sample41.rb:2: Invalid char ~¥201' in expression
sample4l.rb:2: syntax error, unexpected tCONSTANT, expecting $end
n=1 y=0.3
N

32

4 syntax error

H:¥ruby>ruby sample41.rb
sample4l.rb:4: syntax error, unexpected $undefined, expecting ')’

print( "x="x,", y="y,", z= ".z,"¥n" )
N

sample4X.rb:4: unterminated string'meets end of file

syntax error
H:¥ruby>ruby sample4l.rb
sample41.rb:3: syntax error, unexpected tIDENTIFIER,
expecting kDO or '{" or '('

z = if n==1 then x+y x*y end
N

X+y else

34

4 syntax error

H:¥ruby>ruby sample41.rb
sample4l.rb:4: syntax error, unexpected ‘)", expecting kDO_BLOCK

print( "x="x",y="y,", z=",z,"¥n" )
N

= Invalid char -

= Syntax error —

36




= Ruby L #

n thout () or with Q)
irb(main):041:0> puts "

ithout
[1)} e 8
] {(0)1} = nil

print( “ ") & print“ ”

= :"thisis a book", " OK)H™" puts( “ ") < puts” ”
= Ruby

sample4l.rb

x=01 | |

n=1y=03 ;
sample41.rb z = if n==1 then x+y else x*y end E

print( "x="x,", y="y,", z=",2,"¥n")

39 40

n . to_i to_f to_s

irb(main):025:0> print 2 irb(main):031:0> print 2.0.to_i

irb(main):026:0> print 2.0 i in): :0> print "2".to_i.-to_f.to_s
] : ) 27:0> print 2.t0_s p "2".to_ i.to_f.to_s

" :028:0> print 2.to_f -

. ir 29:0> print "2".to_f

:030:0> print "2"_to_i

a4




irb(main):038:0> 3.0/3 + 2/3
= 1.0

irb(main):039:0> (3.0+2)/3
=> 1.66666666666667

irb(main):040:0> 2" + 3
TypeError: can"t convert Fixnum into String
240zin "+

from (irl
from (irb):40
from -0

43

*

= Ruby
2*x+3
X=y+X
print x

# y+X X

if x==3 then y else y-1 end

44

*

if x==3 then y else y-1 end

ﬁ ] + 3+2 5
_ - 4-2 2
if x==3 then * %9 4
| y ‘ ‘ / 412 2
else
9 % 5%2 1
ond ox ) 25
45 46
O) » O
+ 3.1+2.2 5.3 +
- 4.2-2.1 2.1 N / %
* 2.1%2.1 4.41 =
/ 4.2/2.1 2.0
% 5.0%2.1 0.8 2 2-4%3  2-(4*3), 3/4*6  (3/4)*6
ok 5.0%*2.1 29.3654 . —a**-b  —(a**(-b)) **
a-—+-b  a-(-(+(-b))) - +

47
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*

w if then lelse 2end if n==1 then z=x+y else z=x*y end
. true 1 false 2
if n==1 then
if a>0 then =Xty
_ ‘n==1 7=X+y ‘
y=3 a0 y=3 else
else z=X*y
I end | ey |
end
49 50
i ’ i
z = if n==1 then x+y else x*y end m a=a b a =b
7= (]
if n==1 then . =
X+y n==1 X+y
else a=20; b=10
X*y ‘ Xty ‘ a:aJLb z a+_—bb #a
end a=a- a-= #a 1
a=a*b < a*=b #a 200
| z | ; ,
]
+= a += b (a=atb)
-= a -= b (a=a-b) irb(main):006:0> x=7
*— a*=>b (a=a*b) = 7
i i - - = *= F*k= = XY
/= a /= b (a=asb) :;bgggln).007.0> X += X X X /= x%4
Y%= a %= b (a=a%b)
*hk— a **=p (a:a**b)

54




*

irb(main):007:0> x = 3

=>3

irb(main):008:0> (x-=2) - (x+=3)
=> -3

irb(main):009:0> x

S BT B

print

*

= print( )

= print( " ")

= print( " " )

= print( 1, 2, , n)

irb(main):042:0> x=3.1415 - -

=> 3.1415
irb(main):043:0> print( "x:"Dx )
Xx=3.1415=> nil

irb(main):042:0> x=3.1415

=> 3.1415

irb(main):044:0> y=2 -
= 2

irb(main):045:0> print( "
x=3.1415 y=2=> nil

58

irb(main):002:0> print
SyntaxError: compile error
(irb):2: syntax error, unexpedted tIDENTIFIER, expecting ")’

print( "x="x)
N

from (irb):2
from :0

irb(main):004:0> print( x )
NameError: undefined local variable or method ~x' for
main:Object

from (irb):4

from :0

60




[ ] |=3
= print("i ", 0, " ")
= print("i " +itos+" ")
L n.to_s
to_s
= print( " "4+ ")

62

irb(main):042:0> x=3.1415

=> 3.1415

irb(main):043:0> print( "x=" , x )
x=3.1415=> nil

irb(main):046:0> x=3.1415
=> 3.1415
irb(main):047:0> print( "

x=3.1415=> nil
“X="+ x.to_s X

irb(main):042:0> x=3.1415

=> 3.1415

irb(main):044:0> y=2

= 2

irb(main):045:0> print( "x=" , x , "y=" ,vy)
x=3.1415 y=2=> nil

irb(main):048:0> x=3.1415

=> 3.1415

irb(main):049:0> y=2

= 2

irb(main):050:0> print( "x="+x.to_s+" y="+y.to_s )
x=3.1415 y=2=> nil

Ruby

irb(main):002:0> n=123; print( "n
n 123 => nil

irb(main):003:0> n=123; print( "n
n 123 => nil

Ruby

irb(main):018:0* n=123

=> 123

irb(main):019:0> msg="n 2 #{n*2} “; print( msg )
246 => nil

‘ msg="n 2 #{n*2} “ ‘

‘print( "n 2 #{n*2} ") ‘

66




irb(main):004:0> n=123;

irb(main :0* print( "#{n} #{if n¥%2==
irb(main):006:0" then “even" else "odd" end} ")
123 odd => nil
"#{n}  #{
if N%2==0 then
"even"
else
"odd"
end
} "

irb(main):004:0> n=123
=>123

irb(main):005:0> msg="#{n}

#{if n%2==0 then "even" else "odd" end} ¥n"
=> "123 ¥202¥315 odd ¥202¥305¥202¥267¥n"
irb(main):006:0> print( msg )

123  odd

=> nil

68

*

= print( "x=", x)
= print( "x=", x, "¥n")

irb(main):006:0> x=2
= 2

irb(main):007:0> print( "x=" , x )

x2=> nit

irb(main):008:0> p t( "x=", x , "¥n" )
X=2

=> nil

irb(main):021:0> x=2;y=3

= 3

irb(main):022:0> print( "x=" , x , " y=" ,y)
x=2 y=3=> nil

irb(main):023:0> print( "x=" , x , "¥n y=" , y )
X=2

70

irb(main):010:0> msg="¥n"
=>"¥n
irb(main):011:0> print( msg )

=> nil
irb(main):012:0> print( msg*5 )

= puts( )
= puts( " ")
= puts( " " )

= print

72




*

=p

irb(main):031:0> x=Math::PI
=> 3.14159265358979
irb(main):032:0> p x

3.14159265358979 +~——u—__ | |

=> nil

irb(main):035:0> x="abc
=> "abcd"
irb(main):0
"abcd"
== nil

*

= printf("%+d", 1)
printf

http://www.ruby-lang.org/ja/man/
sprintf

74

*

= %d
= printf( "%d" , x)
=X 10

n %f
n printf( "%f", x)
=x 10

*

= %X
m printf( "%x" , x)
=X 16

= %0S
m printf( "%s", Xx)
m X

76

irb(main):010:0> x=123

=> 123
irb(main):011:0> printf( "%d" , x ) -
123=> nil

irb(main):012:0> printf( "%f" , x) -
123.000000==> nil

irb(main):013:0> printf( "%x" , X )
7bh=> nil

irb(main):014:0> printf( "%s" , x )

123=> nil -

irb(main):005:0> x=123.45

;Ij(riiii.;‘:%%:o> printf( "%d" , x) -
123=> nil

o e
gg(:n;alr:l).OOS.0> printf( “%x" , x )
Itz)éngilor?f0> printf( "%s" , x) -

78




*

= printf( "%5d" , x )

= printf( "%5.2f" , x )
n X

*

= printf( "%210d", x )
. 10

= printf( "%10.5f" , x )
=X 10 5

80

*

n printf( "%-5d", x )

m printf( "%-5.2f", x )
m X

irb(main):019:0> x=123

=>123

irb(main):020:0> printf( "%5d" , x )
123=> nil

irb(main):021:0> printf( "%-5d" , x )

123 =>nil

irb(main):022:0> x=3.1415

=>3.1415
irb(main):023:0> printf( "%5.2f" , x )
3.14=> nil

irb(main):024:0> printf( "%-5.2f" , x )
3.14 == nil

irb(main):012:0> x=Math::PI

=> 3.14159265358979
irb(main):013:0> printf( "%5.2f" , x )
3.14=> nil

irb(main):014:0> printf( "%10.2f" , x )

3.14=> nil
irb(main):015:0> printf( "%10.5f" , x )
3.14159== nil
irb(main):016:0> printf( "%-10.5f" , x ) |
3.14159 => nil
irb(main):017:0> printf( "%10.8f"
3.14159265==> nil

irb(main):001:0> x=3

=>3
irb(main):002:0> y=3**2*Math::PI

=> 28.2743338823081

irb(main):03:0> print( "x=",x,"y=",y)

x=3 y= 28.2743338823081=> nil
irb(main):04:0> printf( "x=%d y=%8.4f¥n" , x,y)

x=3 y= 28.2743

=> nil Y

irb(main):05:0> printf( "x=%5.2f y=%10.3f¥n" , x , y )

28.274

irb(main):06:0> printf( "x=%d y=%d" , x ,y )
x=3 y=28=> nil




| ]
20
Excel
. print printf
if then else end 20
7\
86
85
I
irb(main):018:0> gets gets
gets 34
=>|"34¥n"
irb(main):019:0> gets
abcd
=>"abcd¥n" ¥n
87 88
irb(main):024:0> a=gets irb(main):028:0> x=gets irb(main):041:0> x=gets ]
3.1415 abcd 3.1415 o chop
=> "3.1415¥n" => "abcd¥n" :'> "3 1415¥n"
irb(main):025:0>p a irb(main):029:0> p x irb(ma'in)'042'0> x.chop ‘
"3.1415¥%n" "abcd¥n"” == "3 14'15.. ’ ’
=> nil == nil irb(main):043:0> x.chop.to_f A
a < =>3.1415 ‘
a o irb(main):044:0> x.chop.to_i ‘_{

=3

90




= gets "2
.

print( " HED)
u "¥n" line = gets.chop # gets
# chop

x1 = line.to_f
@ print( " HED ]
line = gets.chop
X2 line.to_f

" print( "#{x1} + #{x2} = #{ x1+x2 }" )
[ ]

G:¥Ruby>ruby sample0306.rb
u 123

: 456

123.0 + 456.0 = 579.0
G:¥Ruby>

= line = gets.chop Te————

x = line.to_i

" 0ot print( x , "¥n")

x = line.to_f
print( x , "¥n")

= chop

x = line.to_s
print( x , "¥n")

= line
" to_i to_f

= [
L enter

G:¥Ruby¥sample0307.rb

loop{
print( " HE )
line = gets.chomp
break if line=="" G:¥Ruby>ruby sample0307.
x1 = line.to_f
print( ™ HEED )
A J= e C oD 123.0 + 456.0 = 579.0
break if line==""
x2 = line.to_f
print( "#{x1} + #{x2} = #{ x1+x2 }n" )

print( x , )

789.0 + 12.0 = 801.0

G:¥Ruby>




loop{

break

loop{

break

= chop

= chomp

98

*

Enter

loop{

line = gets.chomp
break if line == "

chomp

line

line

break

irb(main):013:0> gets

=> "¥n"
irb(main):014:0> x = gets

== nil
irb(main):016:0> x.chomp
=> "

100

20

101

. rand() 0 1
= rand(34) 0 33

G-¥Ruby>ruby sample0310.rb
1+5=6

7+9=15

9+3=

G:I¥Ruby>

print( if == then " " else "

" end )

102




